Cetka(1l,1) Crpanvua 1 13 20




Cetka(1l,2)

Ctpanuua 2 n3 20




LCeTKa(l,Z%)

Ctpanuua 3 n3 20

//




[/

LCETKa (1,4)

CTpanuvua

n3 20




LCETKB (1,5) Ctpanuua 5 13 20



Cetka(2,1) Ctpanuua 6 13 20




j\]CeTKa(Z, 2)

Ctpanvua 7 n3 2/0 /




LCETKE] (2 ,7{ /

CTpanuvua

n3 20




LCeTKa (2,4)

Ctpanuua 9 n3 20




LCETKB (2,5) Crpanuua 10 u3 20



WOG 4 WD

)

Cetka(3,1)

Crpanuua 11 3 20




e

Crpanuua 12 u3 20




Crpanuua 13 u3 20

{ Cetka(3,3)
Ao




3 Cetka(3,4)

Crpanuua 14 u3 20




LCETKB (3,5) Crpanuua 15 u3 20



Cetka(4,1)

Crpanuua 16 u3 20




LCETKa (4,2)

Crpanuua 17 n3 20




MaH)XeTa pyKaBa
(Kynupka c J1Jaukpomu)

|

o6Tauka ropsaoBmHb
(Kynupka ¢ nankpom

LCETKB (4,3)

CrpaHuua 18 u3 20 g



LCeTKa (4,4)

Crpanuua 19 u3 20




j\]CeTKa (4,5) Ctpanuua 20 u3 20



